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A Level H2 Math

Integration Test 6

Q1
(i) Show by integration that
-l - 2 - l
_[e“‘ sinx dx = —ge‘h sin x -3 e " cosx+ A

where A is an arbitrary constant. [3]

The diagram below shows a sketch of curve C, with parametric equations

x=e' ,y=e'sint,-r7<t<r.
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Point P lies on C where t =—.
(ii)  Find the equation of the normal at P. [3]

(iii) Find the exact area bounded by the curve C for 0 <7< 7, the line x=1 and
the normal at P. [5]

(iv) The normal at P cuts the curve C again at two points where f=¢g and t=r.
Find the values of ¢ and r. [3]
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Q3
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(i) a

(iii)  The equation of the transformed curve is y = ox - 2
x° — 1) 3
. 5 Ox 2 .3
Volume of revolution = JEL — v 3 dx =3.385units” (to 3 d.p.)
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